Multiplication of Radicals

Simplify.
1) V10(~/5 + /6) 2) V6(\2 +/3)
A) 335 +4 A) 235 +5 B) 2+/3 + 32
B) 582 + 215 C) 543 +3 D) 5V2 +2
C) 272 + 30
D) 3\/§+\/5
3) V6(~/3 +5) 4) V15(+/5 +2)
A) 272 +3/3 A) 272 +44/3
B) ~/30 +3+/5 B) 3+/5 + 4
C) 372 +56 C) 5/3 +24/15
D) 32 +5 D) 4~/5 + 342
5) V(2 +/2) 6) Ve6(~/5 +/3)
A) 3+/5 + /30 A) 53 +3
B) 2/30 B) 2+/5 +5
C) 33 +24/5 C) V30 +3+/2
D) 26 +2+/3 D) 282 +44/3
7 V2(5+/2) 8) \/3(3++/3)
A) 332 +54/3 B) 2+/5 +3 A) 272 +3 B) 4 +543
C) 5/3 +2 D) 572 +2 C) 33 +3 D) 2+/3 + 242
9) V2(+/3 +/2) 10) V15(+/3 +3)
A) 575 +44/2 B) 9 A) 10+5/3
C) V6 +2 D) 10 B) 2+/3 +3

C) 35 +34/3
D) 3+/5 + 315



Multiplication of Radicals

Simplify.

1) \/E(\/g+\/g)
A) 335 +4
*B) 542 +2+/15
C) 272 + 30
D) 3\/§+\/5

3) V6(~/3 +5)
A) 272 +3/3
B) ~/30 +3+/5
+C) 372 + 56

D) 32 +5

5) V(2 +/2)
A) 3+/5 + /30
B) 2~/30
C) 33 +24/5
*D) 2+/6 + 273

7) \/E(5+\/E)
A) 332 +54/3
C) 5/3 +2

9) \/E(\/g+\/5)

A) 575 +44/2
) V6 +2

B) 2+/5 +3
D) 582 +2

B) 9
D) 10

2) \/g(\/5+ \/g)

A) 235 +5
C) 543 +3

4) V15(+/5 +2)

A) 272 +44/3
B) 3+/5 + 4

+C) 543 + 2415
D) 4+/5 +3+/2

6) V6(v/5 +/3)

A) 543 +3

B) 2+/5 +5

C) /30 + 342
D) 282 +44/3

8) \/3(3 + \/3)
A) 272 +3
*C) 313 + 3

10) V15(+/3 +3)

A) 10+5/3
B) 2+/3 +3

C) 35 +34/3
D) 35 +3/15

*B) 24/3 +3/2
D) 5V2 +2

B) 4+5/3
D) 23 +2+/2



